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T100 11,12, 15
T200 12, 14

T300 12,13

T400 11,12, 14
T500 11, 13

T600 12,13

T700 11, 13

T800 11,12, 13, 15
T900 11,12, 13
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uily market.arff

@relation market
@attribute tid {T100, T200, T300, T400, T500, T600, T700, T800, T900}
@attribute 11 {y}
@attribute 12 {y}
@attribute 13 {y}
@attribute 14 {y}
@attribute 15 {y}
@data
T100,y,y,?,?,
T200,?,y,?,y,?
T300,?,y,y,?,?
T400,y,y,?,y,?
T500,y,?,y,?,?
T600,?,y,y,?,?
T700,y,?,y,?,?
T800,y,y,y,?.y
T900,y,v,y,?,?
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uily weather.nominal .arff

@relation weather.symbolic
@attribute outlook {sunny, overcast, rainy}
@attribute temperature {hot, mild, cool}
@attribute humidity {high, normal}
@attribute windy {TRUE, FALSE}
@attribute play {yes, no}

@data

sunny,hot,high,FALSE,no
sunny,hot,high, TRUE,no
overcast,hot,high,FALSE,yes
rainy,mild,high,FALSE,yes
rainy,cool,normal,FALSE,yes
rainy,cool,normal, TRUE,no
overcast,cool,normal, TRUE,yes
sunny,mild,high,FALSE,no
sunny,cool,normal,FALSE,yes
rainy,mild,normal,FALSE,yes
sunny,mild,normal, TRUE,yes
overcast,mild,high, TRUE,yes
overcast,hot,normal, FALSE,yes
rainy,mild,high, TRUE,no
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Best rules found:

1. outlook=overcast 4 ==> play=yes 4  conf:(l)
2. temperature=cool 4 ==> Iumidity=normal 4  conf:il)

3. mmidity=normal windy=FALSE 4 ==> play=yes 4  conf:({l}

4. outlook=sunny play=no 3 ==> hupidity=high 3  conf:(l)

5. outlook=sunny humidity=high 3 ==> play=no 3  conf:(l)

6. outlook=rainy play=yes 3 ==> windy=FALSE 3  conf:{l}

7. outlook=rainy windy=FALSE 3 ==> play=yes 3  conf:{l}

8. temperature=cool play=yes 3 ==> humidity-normal 3  conf:{l}
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outlook=overcast 4 ==> play=yes 4 conf:(1)
temperature=cool 4 ==> humidity=normal 4 conf:(1)
humidity=normal windy=FALSE 4 ==> play=yes 4 conf:(1)
outlook=sunny play=no 3 ==> humidity=high 3 conf:(1)
outlook=sunny humidity=high 3 ==> play=no 3 conf:(1)
outlook=rainy play=yes 3 ==> windy=FALSE 3 conf:(1)
outlook=rainy windy=FALSE 3 ==> play=yes 3 conf:(1)
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temperature=cool play=yes 3 ==> humidity=normal 3  conf:(1)
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